10:3 Day 1 Worksheet

HA2T - Nash Name: Ku,oy

1.-What is the probability that a student plays soccer, given that they are female?

P (saceer | Qevak)
Male .| Female
Basketball 54 40 | -
Soccer 36 61 WA ‘
Volleyball 10 12
W3
2. Use the table to find each probability.
Projected Number of Degree
Recipients in 2010 (thousands)
LT%
45
U.S. National Center for Education Statistics
. 243 124\ 2134
a. P(The recipient is male). 243 _ .
234~ 39.57.
b. P(The degree is a bachelor’s) |45 0R.2'
23y '
c. P(The recipient is female, given that the degree is an associate’s) d3e, = 3,97
LT -
P (ferrale | assec)
d. P(The degree is not an associate’s given that the recipient is male)
P (nO‘\‘ QS&OC.' mMe\ %?;‘ = T0.9°%

3. Eileen and Ben are away at college. They visit home on random weekends, Eileen with a probability of .2
arid Ben with a probability of .25. On any given weekend, what is the probability that:

a.both will visit?  (.25)(.2) = .09
b. neither will visit? (. 15)(.8) = .60
¢, Eileen will visit but Ben will not? (2 (7 Yz .15
d. Ben will visit but Eileen will not? (.2.6)( '3) z .2

e.atleastone willvisit?  P(A) + P(B) - Pl AadB ) | - P(ne'Ahcr\
s+ 25 = .0S — -4



4. Kara estimates that the probability of her getting an A in math is .92 and an A in history is .88. What is her
probability of getting:

a. an Ain math and history? P(AgrdB) = (/ﬁ}’,%%) = .3
b. noAinmath? .02
c. noAin history? =12
i H ( Y4 N -
d. noAin math or history? P(AprdB)= 0% X.12)= . O)

e. at least one A? P((l+ leact 0: |- P(no AW
= [=,0I
-.99

5. Docis a regular customer at the Waterfront Coffee Shop. The owner has figured that Doc’s probability of
ordering ham is .8 and his probability of ordering eggs is .65. What is the probability that:

a. he does not order ham? _ 7
b. he does not order eggs? - 35

c. he orders neither ham nor eggs? P(nat A and B) = ',"’ 2)(o? 5)= .07

Q.

. he orders ham and eggs? P (AOnd 5\):' (. %\{.&57 = .52

]

. he order at |least one, ham or eggs?

| - .,OFI - o 9 3

6. Our baseball teams play on Friday. The probabilities that they will win are: .7 Varsity, .6 JV, and .8
Freshman. What is the probability that:

a. Allthree win? P(Aand B and C) = (o'iY.(o}( 2= 33.Lb7

b. All three lose? P(qufA ard ot B and not ¢)= (.3, \(-7)’—' 2.4 ./-

c. At least one team wins?

|- 024 = AT.L 7



